ELS IRNESS 2 LEISURE MICROCOMPUTERS
% 1

1£y The Ssuarer Eenilworth., OVE LER Te enilworth (O924) B12127

INSTRINC:T IO —  FEP T LR TR St E Isgue 4

T ETT TTE Tl STl ETE Fl STl £l ATl T TVl Al Bl Tl Nl F el AR ol Pl Sl LR Al Pl £l Sl Al ol A nl? Pl P

The Kenilworth Lase comerises the earts Tisted below. Check aszinst this list befors starting assembly, All screws
in waod must first have a small eilot hale dritled in the correct Tocation.  As assembly eroceeds: some stases will
52 found eazier 1T tne wooden earts are temeorarily removed.,  Because of this do not tishten any screws until initial
zssembiy 15 complete,  IMPORTANT:-  Fit and tishten screws for 70F in seauence from the rear to the front.

FARTS LLIST

HQuantity  Item Size lge

Lo 3 ALIMINIUM TRIM Trim (see Note 1 below)

E ¢ yooSInE LH & RH wooden side supports

1« ¥ BASE Matal base (Flastic inside for insulation)

1 YoOTOR Metal top

i ( 3 BACK Metal back for sockets etc.

i« }  HEATSHIELD Frotect RH SIDE from pPower supply heat

£ } Screw Maxk Transformer(4), Earth tass(2)

4 & } - Screw MG 20 Kevboard fixinzs

le 3} Washer M4 All M4 fixinss

10 x 3} Nut M4 All M4 fivinass

RO ¢ )}  Spacer MAxl2.7 Fevboard(4), epower supply unit(4)

2| } Earth tas M4 Earth BAZE, TOF, and BACK to sach othep

I } Screw 310 Main board (alls excert by LSW 1)

2 A } Screw IRZ0 Main board (by LSW 1}y Terminal block(1}

4 | ) Washer Mz Main board

S| }  Nut Mz A1l M2 fixines

4 | ) Flastic spacer - Between Main board and Base

4 )} Woodscrew No.dxi® Fower supply unit and heatshield

& Y Spacer M3k Heatshiald to RH SIDEs Main board (LSWI)

iz ( ¥ Woodscrew No.4&x1/72" TOF, BASE and BACK to SIDES

1 | } Terminal Block Mains Iny Neutrals, Mains Out (es. Fan)

= } Grommat Mains Ins Dassette Out

1« Y Tossle Switch Mains On/0ff switch

1 { } Push-button Switch Reset switch

4 | } Faat ) Fit to BAZSE

1A Y o Wirer Green/Yellow Earth bondins .

i« ' Wires» Red Fsu (+5 VYoltsy

1 ) Wirey Fink Fsu (+12 Volts)

A { Y Wires Furple Fsu (~12 Vnlts)

1 3} Wires Elack Fsu (O Vnits)

1 ) Wire; Oranse Reset switoh

1« } Wire, Blye Mains (neutral)y psu (-5 Voits)

1« ) Wire:s Brown Maing {(live} o IMPORTANT NOTE | »

L | Y Sleever small Mains transformer < FOR  YOUR SAFETY

2 ¢ Y} Slesve, large Mains On/0ff switch < INSULATE ALL MAINS:
“ TAGED & CONNECTIONS

O EMEBEL Y

Tk F ek Hadl Bkl Eowll Bk Pk SVt

Assemble the rarts and wire as shown in the circuit diaseam, Scrare off the raint below all screws used for the
Earth tass (earth the TOP via a Kevboard fixine)., When wirins» ieave sufficient lensth to allow the TOF and the BACK
to be lifted comrletely clear of the SIDES without straining any wires. Untidy wiring may rause damsage to the Nascom
so carefully tare or twist all wires and route them as indicated on the diasram, Take care to insulate the mains
switch and transformer with the rubber slseves (lubricatinz with saliva may ease assembly).

Note 1:-  The Aluminium Trim may be used to allow custom labellina and/or extra front ranel switches to be fitted and
labelled wusins Letraset or similar lettering. To allow sufficient rear of ranel clearance most switches must be
mounted below the centre line of the trim (es. midway between "Kenilworth® and the adse of the triml,

Note 2:~ If more than one “add-on" board is to be fitted then the ortional S-Card Frame should be fitted. However:
if only one board {rlus main board) is to be used then the 2-Card Fittins kit should be used (see semarate
instructions for whichever is used). On the Main board near LSW1 use two M3x4 spacers above the board with the M3x20

screw to clear LSNL.



asvg Xove

——

advogAIaM 4 w MOT13IA/N33HO
\ AO

nsd 913 z&m ol

Wf-f%
o

r*o ' N [T
13s3y = o _—

\ | | NMOY g

2

u_u_O\ZO NMO4dd



i
' . i
earthcable:basetag |l
‘ A < torear tag g
v blue & brown to
SHIELD terminal block : |
Y, \ :
N L s PL2
A..O » » |

BASE EARTH TAG

-

£ IR 3

%&'RSL"E to baste earth
top eart - tag

to transformer

/—-" mains

7/ | earth cable from
wy/ Y transformer to —
4/ b‘?se &PSU.Ov b

FSNRNEL

1 MAIN
e - p— g\ | BUARD
(+5vr°s) " TRANSFORMER

to top

\--keyboarg cable routed behind heat shieid to PL1 ————-*7’

‘REAR EARTH TAG

(or fan fixing position)

BACK PLATE

b A ArSAA b




(% — ’ EDGE CONNECTOR
©\$ MOUNTING CLIPS

\ L “ --~ . :f:f.':.',:‘ ':_7:.:." . e e

earth tag [o} ——

Q_.' \ -!m*—m a..._;'studding

pp—— \\
|

MOTHER BOARD

a2

o |\
‘ © |« CARD GUIDES

‘ 'j—l (five sets provided)
3‘“’" __,_;\@@)( -
T - CARD FRAME

S trans‘former\
tixing holes ' | (provision for five cards)

.,.,.y("l)v*.,..‘ff_ . _TNB. I*fit.all QWW* -
\ ‘ available slotPositiong -

\ if upper two slots -are used
\g i then fan cooling is essential.

S~ NS NS

NS S~
oo

'

t

i

[




ElLUS INESS £ LEISURE MICROCOMFIITERS
14y The Sauarer Kenilworth. CV2 1EB Tel: Kenilworth (0¥z4) S12127

INSTRUCTIONS — KERNMILWIRTH CTAaSE s

O Pl el E>f Bl Fodl Bl B=sl F=all H=ell S0l EPads el Tl Fil E™all H™ k' okl Bl B4l £l Bl Sl E5ul Tl E0lP Bl Ul Fdl BdP S

OFPFTIONAL CTAaRD FRaAaME Issue 2

Foel Sl Bl Sl &l Bl Tl S ENA Ll S0l Gl il Fl E B Tl Xl L™l &kt

The Kenilwoirth Case (Card Frame) comprises the parts listed below.
Check against this list before starting assembly. All screws in wood
must first have a small pilot hole drilled in the correct location. As
assembly proceedsy some stases will be found easier if the wooden rarts
are temprorarily removed. Because of this do not tighten any screws
until initial assembly is complete.

PARTS LIS

Bl Wl Bl Wkl &7 o Tl Bl Eal Bl S~

Guantity Item Size llge
eI | ) GUIDE-SUPPORT RH/LH Metal side suprorts
10 ( ) Guide Suprports for circuit cards
1« ) Motherboard Connections between edase connectors
10 ¢ ) Clipes Fikxine edse connectors (Note:- Edae
connectors are suprlied with each
. . Nasbus card, so are not included,)
10 «( ) Screw MIxb Fixina clies to RH & LH
10 «( Y Nut M3 Fixing clirs
10 «( Y} Wacgher 2 : Fixinag clips
1 « ) Studdine M4 Fixing RH to LH
4 ( Y Screw M4 10 Fixing RH to transformer
4 ( ) Washer Ma Fixing RH to transformer
e ( J Nis i M4 A1l M1 fininss
1« ) Earth tas M4 Earth RH to BASE
C I | ) Woodscrew No.&x1/72" Fixinag LH to SIDE
1 <« } Wirey solid core Daisy chain connections
b ¢ }) Wire, gsreen-vellow Earth connection

WIFIXIRNGS

G ol el E ek Lol L=k Sl

Wire the edse connectors as normal, but note that "daisy chainins" is
necessary 1f more than one exransion card 1is to bhe fitted. Nashbus
lines 14 (BAI) and 17 (RADQ) are used te provide & "daisy chain" Bus
Acknowledse sianal for priority bus controi. Nashus lines 1% (IEI)
and &0 (IED) form a "“"daisy chain" connection for Interupt Friority
Control. Cn the Motherboards the bus tracks must be cut between each
edae connector to allow these lTines to be used. (Any card that Jdoes
not use these sianals will be seen to have the lines linked tosether.
For example see a RAM card.) Normally the main board will be fitte:
at the top of the case with successive priority cards helow it. This
however «carn be varied if desired. Referrinag now to the wiring
diasrams the tracks must be cut with a driil at the points marked with
an X and the links added to the Motherboard as shown. Earth the card
frame to the nearby earth tag on the Base.



